Handout of problems for Present Value
This is not an assignment, we will work through a few of these in class, the extra are for you to practice on if you are bored.

1. What is the yearly payment on a 30 year mortgage that is $250,000?  Do it for both 5% and 6%

5% = 16,262.86
6% = 18,162.23
2. What is the yearly payment on a 50 year mortgage that is $400,000?  Use 6%

25,377.71
3. What is the yearly payment on a 15 year mortgage that is $250,000?  Use 6%

25,740.69
4. How much mortgage can you afford if you can pay $1,500 a month (or $18,000 a year, for 30 years)?  Do it for both 5% and 6%

5% = 276,704.12
6% = 247,766.96
5. If you have a coupon bond that pays a 10% (of face value) coupon each year, with a face value of $10,000, what is the Yield to Maturity if it currently costs $10,000 and matures in 10 years.

10%
6. If you have a coupon bond that pays a 10% (of face value) coupon each year, with a face value of $10,000, what is the Yield to Maturity if it currently costs $9,000 and it matures in 10 years.

11.75% (you can do this with solver!)
7. If you have a bond that is worth $888 today and will expire in one year (with a face value of $1,000) what is its value?  (ie what is the YTM)
12.61%
8. If you know you want the value of your bank account to be $7,000 in 4 years.  What do you have to put in today to have that, if you know the interest rate is 10%?
4,781.09
9. If you are going to receive $100 a year, forever (starting next year).  What is it worth today if the i = 5%?  What if i = 10%?

5% = 2000
6% = 1000
10. What if you received the same as above, but it started today?

2100

1100
11. If you are going to receive $100 a year forever, starting in 2 years.  What is it worth today if i = 10%?

1904.76
909.09
12. I you receive $100 next year, $500 in two years, and $1,000 in three years (each individual payments), what is the value of those collectively today?  (assume i = 12%)
1,199.67
